< 0dy > (kM)

Ratio

<op/p, > (%)

.................................................

.................................................

.................................................

2
(PCA 16 beamiinéf

~ 0.]

%107

©0.08
3
0.06

V0.04F

0.02

-0.02
-0.04

—0.06F

.................................................

.................................................

.................................................

2 3
 (PcA Bbeamiindf

titot

11111
TooUoog

SO
uare,
Ipquarels—stie
| uare, Sie|
| uare3u—ste

N
=]

=0

0000,

1

.................................................

.................................................

; I2 3
1 - (PCA t%)obeamlin%)o

=

<dd,>(um)

2 3
1 TPl[g)T (PCA f%)obeamlinéf)



	Contents
	Page 1


